10 28 15 24

23 11

23 10 28 15 24
Bg/cm3 Bg/cm3
-131 2.1>%<1071
Cs-134 1.1>=<10° 46>=<101
Cs-137 1.7><10° 6.3x<101?
Bg/cm?3 Bg/cm?3
Kr-85 4.6>10*
Xe-131m 5.1>%<10°
Xe-13 40x<10+1
Xe-13 1.6><101




10 28 15 26

23 10 28 15 26
Bg/cm3 Bg/cm3
-131 1.8%<101
Cs-134 44=<101
Cs-137 6.7><101 48x=<101
Bg/cm?3 Bg/cm?3
Kr-85 3.6x<107
Xe-131m 4.4><10°
Xe-13 28x=<101
Xe-13 1.4><101




11

23 11 13 51 14 20
Bg/cm3 Bg/cm3
-131 1.8%<10°
Cs-134 3.8%<10°
Cs-137 53x%<10° 42>=<10°
Bg/cm?3 Bg/cm?3
Kr-85 3.6x<1073 3.1x<10*%
Xe-131m 53x%<10* 42>=<10°
Xe-13 6.5><106 3.4><10°
Xe-13 1.3%<10° 54><10°




11 2

23 11 11 59 12 29
Bg/cm3 Bg/cm3
-131 44=<10°
Cs-134 7.9%<10 3.6x%<10°
Cs-137 40x=<10°
Bg/cm?3 Bg/cm?3
Kr-85 53x%<101 72104
Xe-131m 6.1<10* 1.6><10*
Xe-13 1.5%<10>
Xe-13 1.7><10° 43>%<10°




